Of these devices, we want to decide which are labeled according to Passive Sign Convention (PSC).
PSC occurs when we see the current arrow pointing into – or entering – the positive terminal of a device.

We’ll look at these in order.

For device 1, the current arrow can be redrawn. We see that it is entering the positive side.

For number 2, the current enters the negative terminal. So it doesn’t follow PSC.

For the 3V source, the current does enter the plus side, so it follows PSC.

Device 4’s current enters the negative terminal, so it doesn’t follow PSC.

Device 5 does follow PSC, for current enters the positive side.

Device 6 has current entering the negative terminal, so it doesn’t follow PSC.

Device 7 doesn’t follow PSC, while device 8 does. Current flows into 7’s positive terminal, but it flows into 8’s negative terminal.

So PSC is followed for devices 1, 3, 5, and 7.

